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] £ 1,268,083 392,662 31.1
&t 474,596 127,124 27.1
B il # 296,701 75,539 25.8
J\ & T 25,861 9,693 375
B i iR H 55,459 12,390 22.5
= A i) 16,718 5817 34.8
ftl = # T 6,153 2,707 44.0
P F T 13,466 4,875 36.2
i s BT 32,416 9,374 29.3
% rh i) 27,822 6,729 24.3
» B 223,346 69,030 31.0
? 1t # ol 96,815 31,666 32.8
h 1t + H 93,127 24,087 26.0
#n = 154 H 27,658 10,534 38.2
/O & E 5,746 2,743 47.7
] H 134,093 43 545 325
= | i 118,281 38,970 33.0
AL & & 5 H 15,812 4575 28.9
6] H 127,833 43,773 34.3
” — 5| H 120,062 40,975 34.2
= b = HT 7,771 2,798 36.0
— H 62,667 22,691 36.4
= X MmO OE H 37,547 13,023 34.9
il B gl = B h 19,473 7,311 37.7
IES M T 5,647 2,357 41.8
e it 48,005 17,213 35.9
% v o] 36,363 13,121 36.2
] % K8 BT 11,642 4,092 352
i 84,515 30,162 35.8
= =) & il 55,870 19,274 34.6
il H i) 15,578 5,671 36.4
I P 5 BT 9,643 3,929 40.7
H % W & 3,424 1,288 37.6
& 58,372 19,276 33.1
2 2 % # 35,147 10,691 30.5
" = A #t 2,753 1,057 38.4
s 53 H *t 4,102 1,459 35.6
3 154 i) 16,370 6,069 37.1
it 54,656 19,848 36.3
= = B il 27,149 9,288 34.3
_ 2 * g 9,131 3,412 374
i =] it 5,784 2,318 40.1
— = BT 12,5692 4,830 38.4
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